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QUESTION 1

When is it necessary to use an SNMP based Enforcement profile to send a VIAN? 

A. When we have to assign a vlan to a wired user on a third party wired switch that doesn\\'t support RADIUS return
attributes. 

B. When we have to assign a VLAN to a wired user on an Aruba Mobility Access Switch. 

C. When we have to assign a VIAN to a wired user on an Aruba Mobility Controller. 

D. When we have to assign a VLAN to a wired user on a third party wired switch that doesn\\'t support RADIUS
authentication. 

E. When we have to assign a VLAN to a wireless user on an Aruba Mobility Controller. 

Correct Answer: B 

 

QUESTION 2

An administrator deploys an AP at a branch office. The branch office has a private WAN circuit that provides
connectivity to a corporate office controller. An Ethernet port on the AP is connected to a network storage device that
contains sensitive information. The administrator is concerned about sending this traffic in clear-text across the private
WAN circuit. 

What can the administrator do to prevent this problem? 

A. Redirect the wired port traffic to an AP-to-controller GRE tunnel. 

B. Convert the campus AP into a RAP. 

C. Enable AP encryption for wired ports. 

D. Enable IPSec encryption on the AP\\'s wired ports. 

Correct Answer: D 

 

QUESTION 3

An administrator creates service-based policies for AirGroup on the Mobility Master (MM). The administrator can define
location-based policy limits based on which information? 

A. AP names, AP groups, controller names, and controller groups 

B. AP Fully Qualified Location Names (FQLNs) and controller Fully Qualified Domain Names (FQDNs) 

C. AP names, AP groups, and AP Fully Qualified Location Names (FQLNs) 

D. Controller names, controller groups, and controller Fully Qualified Domain Names (FQDNs) 

Correct Answer: C 

Latest HPE6-A75 Dumps | HPE6-A75 PDF Dumps | HPE6-A75 VCE Dumps                                2 / 3

https://www.geekcert.com/hpe6-a75.html
https://www.geekcert.com/hpe6-a75.html
https://www.geekcert.com/hpe6-a75.html


https://www.geekcert.com/hpe6-a75.html
2024 Latest geekcert HPE6-A75 PDF and VCE dumps Download

 

QUESTION 4

An administrator implements the MultiZone feature and uses two clusters that utilize CPSec. A primary and a data zone
are created. MultiZone APs successfully build sessions to the primary cluster but fail to establish sessions to the data
zone cluster. 

What must the administrator do to solve this problem? 

A. Enable CPSec in the MultiZone profile for both the primary and data zone. 

B. Enable MultiZone booting in the MultiZone AP apboot configuration mode. 

C. Add the MultiZone APs to the data zone\\'s CPSec whitelist. 

D. Use different AP Group names for the two zones. 

Correct Answer: D 

 

QUESTION 5

A company requires AOS-Switches at the campus core. The switches: 

Will act as the default gateways for several campus VLANs Must provide redundancy for their services and tolerate the
loss of a link or an entire switch Must recover from the failure of one of the switches within a second or less 

VRRP and MSTP are proposed to meet these requirements. What is an issue with this proposal? 

A. VRRP provides redundancy against lost links but not a failed switch. 

B. VRRP provides routing redundancy but not default gateway redundancy. 

C. VRRP does not interoperate with MSTP. 

D. VRRP takes longer than a second to fail over. 

Correct Answer: D 
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